SINCE 1941
polml rus.ru topol-dt.ru

Al 1o

Polini kids Aviv

Table on metal support with 2 drawers
Metallstiitztisch mit 2 Schubladen

Tabel met metalen ondersteuning met 2 laden
Table sur support en métal avec 2 tiroirs

Mesa de soporte de metal con 2 cajones
Tavolo in metallo con 2 cassetti

Mesa de apoio de metal com 2 gavetas

Cron Ha MeTannuMyeckou onope ¢ 2 AWmnKamMm
NIN'an 2 oy NdNn 221 Dy NN |N7IY

SN

U0 80 Aol pcll Jga>



@D |MPORTANT! RETAIN FOR FUTURE REFERENCE.
READ CAREFULLY.

@3 WICHTIG! FUR SPATEREN GEBRAUCH AUFHEBEN.
SORGFALTIG DURCHLESEN!

I BELANGRIJK.BEWAAR VOOR TOEKOMSTIG GEBRUIK.
/ORGVULDIG DOORLEZEN!

G> |MPORTANT! A CONSERVER POUR TOUTE
CONSULTATION ULTERIEURE. A LIRE ATTENTIVEMENT.

@ |MPORTANTE! LEALAS ATENTAMENTE Y CONSERVELAS
PARA FUTURAS CONSULTAS.

@» |MPORTANTE! DA CONSERVARE: POTREBBE SERVIRVI
ANCORA! LEGGERE ATTENTAMENTE!

@» |MPORTANTE! GUARDE PARA FUTURAS CONSULTAS.
LEIA COM ATENCAO.

@D BAXHO! COXPAHWTE A1 LATIbHEWLLETO
NCMOJIb30BAHMA. YATAUTE BHUMATEJIbHO.

@ ryva xp TRy YL Ny lawn

@ 6 Ll £95,0 blaisVl Logpo
2l L8l . Losiml]






Number on the picture
Nummer in der Zeichnung
Nummer op figuur
Nombre a la figure
Numero en el dibujo
It numero alla figura
Numero na figura

Number of parts in the product
Stiickzahl der Teile im Produkt
Aantal componenten in het product
Nombre des détails du produit
Cantidad de elementos del producto
La quantita dei dettagli nel prodotto
Quantidade de pegas

Parts description
Bezeichnung
Onderdelen namen

Names des piéces
Nombre de los el

Designacao das pegas

La nominazione dei dettagli

; netanei
p>nn ow
el 3>V Quouuni

Laying El embalaje NNIN
Verpackung Posa (W3}
Pakking Estilo

Pose Yknagka

Box / Karton / Plaats / Placer / DIpRN
Lugar / Il posto / Espaco / Mecro / U SoJ|

Homep Ha pucyHke KonuuecrtBo aertaneii B uspenun
Nlnnadon asina D‘P"!‘l ason 1 2 3
Qouw | e p3,J1 2uiolU sl >V duos
Side wall Paroi latérale Prancha lateral
1 Seitenwand Lateral de planchar BokoBas cTeHka [ ]
Zijwand La parete a fianco sl Hlasdl
OXNY 1917
Side wall Paroi latérale Prancha lateral
1 Sgltenwand Lateral de planchar BoKOBas CTeHKa o
Zijwand La parete a fianco wswiladlladl
™ot
Countertop Plateau de table Tampa de trabalho
1 Tischplatte Tapa de la mesa Cronewnuua [ J
Tafel dekken Copertura tavolo aglbll clae
N2 NOMD
Vertical bar Barre verticale Barra vertical
1 Vertikale Block La barra vertical Bpycok BepTUKanbHbIi [ ]
Verticale balk Barra verticale S3908)l o
"IN NP
Back panel Paroi arriere Parede traseira
1 Riickwand Pared trasera CreHKa 3aaHss [ ]
Achtermuur Parete posteriore sl lazdl
nx Mo
Horizontal bottom Socle Horizontal da parte inferior
1 Horizontale unteren Teil Horizontal de la parte inferior  [opu3zoHTanbHasa HMXKHAS [ )
Horizontale onderste deel Orizzontale la parte inferiore ol £yl (sasl
T'POIX NP
Rearwall of the drawer Coté arriére tiroir Parede traseira da gaveta
2 Schubladenriickwand  La pared trasera del cajon 3aaHaAa CTeHKa AlmKa [ ]
Lade achterwand La parete posteriore del cassetto z,al) (salzl lazll
N"ANN ¥ MINKN 1917,
Drawer bottom Fond du tiroir Fundo da gaveta
2 Schubladenboden El fondo del cajon [Ho awmka [ ]
Ladebodem IL fondo del cassetto Ml els
n"ann NN,
Drawer front Facade du tiroir Fachada da gaveta
2 Schubladenfront La fachada del cajon dacag awmka [ ]
Ladegevel La facciata del cassetto [SEVCPE
nann nn.
Metal supports Supports métalliques Suportes metalicos
2 Metallstiitzen Soportes metalicos Onopa MeTannuyeckas Y
Metalen dragers Poggiatesta metallic ool pclal
Nonna No'Mn
Set of fittings Kit d'accessoires Kit de ferragens
1 Satz Beschldge Conjunto de los accesorios KomnnekT dpypHUTYpbI [ ]
Hang-en-sluitwerk IL completo della fornitura auiaeo agl;
oMrax Vo




Confirmat screw 7 x 50 Eccentric pin Eccentric
Confirmat Schraube 7 x 50 10 Exzenterstift 6 Exzenter
1 1 X Confirmate Schroef 7x50 X Stengel van excentriek X Excentriek
Vis confirmer 7 x 50 Tige d'excentrique Excentrique
El tornillo de rosca gruesa 7 x 50 El pasador excéntrico Excéntrico
ILvito confirmato 7 x 50 La barra delleccentrico Leccentrico
Parafuso confirmat 7 x 50 Rosca soberba Tambor
BMHT—KOHQ)MP[VIGT 7 x50 LUTOK 3KCLEeHTpMKA IKCUEHTPUK
7% 50 (csvmpoVl) ozl oty (o riinnS]) 585000 V 08 s90 (el yiins]) 58050 Y yo,9
-2M2 7 x 50 "MUIKOPX 'O "MVINOPX

H=85 mm
L=450 mm

—
—
Drawer slides

Flihrung

Richtinggever

Glissiere

Guias para cajones

| dirigenti per i cassetti
Corredicas para gavetas
Hanpasnsiowue ans swmkos

Dowel 8 x 30
Holzdiibel 8 x 30
19 X Pluggen 8x30 2 X
Goujons 8 x 30
La clavija 8 x 30

La spina 8 x 30
Cavilha 8 x 30

WkaHT 8 x 30 NTEYN

21,5M BVl (svac
8 x 30 ,Lu3 ZJ; P eag
W m>on

QP

%

Screw 4 x 13 Screw M6 x 13 Handle
X 32 Holzschraube 4 x 13 X 16 Gewindeschraube M6 x 13 2 X Griff
Schroef 4 x 13 Schroef M6 x 13 Handvat
X 24* Vissez 4 x 13 X 24* Vis M6 x 13 Poignée
El tornillo 4 x 13 La tuerca M6 x 13 Manejar
Lavite 4 x 13 ILvito M6 x 13 Maniglia
Parafuso 4 x 13 Parafuso M6 x 13 Manejar
Wypyn 4 x 13 BuHT M6 x 13 Pyuka
4 x 13 )locunall M6 x 13 )locunnll go Joleill
2A24x13 A2 M6 x 12 bakal

@)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) @)})))))))))))))))))))))))))))))))))

Screw M6 x 50 Bushing Screw M6 x 30

4 X Gewindeschraube M6 x 50 1 X Buchse 4 X Gewindeschraube M6 x 25
Schroef M6 x 50 Bus Schroef M6 x 25
Vis M6 x 50 Douille Vis M6 x 25
La tuerca M6 x 50 Buje Tornillo M6 x 25
ILvito M6 x 50 Boccola Vite M6 x 25
Parafuso M6 x 50 Bucha Parafuso M6 x 25
BuHT M6 x 50 Brynka BuHT M6 x 25
M6 x 50 ,locuall aazo &l M6 x 25 ) locuuod]
painl 20N 2Nin a1

Eccentric
4 X Exzenter
Excentriek
Excentrique
El excéntrico
Leccentrico
Tambor
IKCLEHTPUK
(el yiinsS]) 58050 V 0,8
MULI¥OPX

* BapuaHT (BonyckaeTcs Ha YCMOTpeHUe NpousBoauTens)









16x

““““
>N
““““ o
&M
““““
I
““““
v
5~
wwwwwwww ‘\www\\
wwwwwwww \\wwk\v 4
5 N
wwwwwwww ‘\www\\
N
wwwwwwww ‘\www\\







10






12



@ Requirements for security,
storage and use

1. Please read carefully the requirements of this
manual.

2. Protect the item from shocks and mechanical
damage.

3.To avoid injury, ensure the correct and secure
assembly in accordance with the requirements of this
manual before the first use of the product.

4. The product should be stored indoors at a
temperature not less than +2°C and not above +40°C
and relative humidity of 45% to 70%.

5.The product is recommended to be cleaned with a
damp cloth and then dried with a soft clean cloth.

Warranty from the manufacturer

1. The manufacturer guarantees the conformity of
product to the requirements of normative documents
under condition of the observance of rules of
storage, transportation, operation and assembly.

2.The lifetime is 2 years.
3.The warranty period is 18 months.

4. During the warranty period any defects are
eliminated free of charge. If a defect is found, you
should immediately inform the manufacturer. The
decision to repair or supply a spare part is at the
discretion of the manufacturer.

5. This product is not suitable for commercial or
industrial use. Violation of terms of use results in the
reduction of the warranty period.

6. The warranty covers only materials or manufactu-
ring defects. Spare parts’ deterioration or damage
which may occur as a result of incorrect exploitation,
use of force or intervention which took place without
prior consultation with our service Department, are
not covered by warranty.

7. Please keep the original packaging during the
warranty period to ensure safe transportation of the
product in case of return. Do not send the item to
our service department without packaging!

Acceptance certificate

The product is made and accepted in accordance
with obligatory requirements of standards,
current technical documentation and is
acknowledged to fit for service.

The technical control representative

Manufacture date

Repair, replacement of parts and components
of the goods during the warranty period are
made at the following address:

2, Rechnaya Str., Votkinsk, 427432, Russia
CUSTOMER SERVICE
Tel.: +7 34145 29821, e-mail: servicevpk@topol.ru

Sale date

Stamp of the selling company

The manufacturer reserves the right to make minor

technical changes not reflected in this guide.

@ Anforderungen an die Sicherheit,
Lagerung und Verwendung

1. Lesen Sie bitte die Anforderungen dieser
Anleitung sorgfaltig durch.

2. Schitzen Sie den Artikel vor Schldagen und
mechanischer Beschadigung.

3.Zur Vermeidung von Verletzungen stellen Sie vor
dem ersten Gebrauch sicher, dass das Bett gemaf
den Montageanweisungen richtig und sicher
zusammengebaut wurde.

4. Das Produkt sollte im Innenbereich bei einer
Temperatur von nicht weniger als +2°C und nicht
Uiber +40°C und relativen Luftfeuchtigkeit von 45
bis 70% gelagert werden.

5.Zur Reinigung wird empfohlen, das Produkt mit
einem feuchten Tuch abzuwischen und dann mit
einem weichen Tuch nachzutrocknen.

Garantie des Herstellers

1. Der Hersteller garantiert, dass der Artikel den
Anforderungen der Europdischen Norm entspricht,
unter Einhaltung von dem Benutzer die
Bedingungen fiir Lagerung, Transport, Gebrauch
und Montage.

2.Die Lebensdauer des Produkts betrdgt 2 Jahre.
3. Die Garantiezeit betragt 18 Monate.

4.Wahrend der Garantiezeit werden eventuelle
Mangel kostenlos beseitigt. Der Hersteller wird
die Garantie durch Ersatzteilversand oder
Reparatur erfiillen.

5. Dieses Gerdt ist nicht fiir eine kommerzielle
oder gewerbliche Nutzung geeignet. Eine
Zuwiderhandlung hat eine Garantieverkiirzung zur
Folge.

6. Bei Verschleifdteilen oder Beschddigungen, die
durch unsachgemafen Gebrauch, Gewalt oder
technische Veranderungen entstanden sind und
ohne Riicksprache mit unserer Serviceabteilung
vorgenommen wurden, erlischt der
Garantieanspruch.

7.Bitte bewahren Sie, falls moglich, die
Originalverpackung fiir die Dauer der Garantiezeit
auf, um im Falle einer Retoure die Ware
ausreichend zu schiitzen und senden Sie keine
Ware unfrei zur Service Abteilung ein!

Bescheinigung iiber die Annahme

Das Produkt wurde in Ubereinstimmung mit
obligatorischen Anforderungen der geltender
technischen Dokumentation hergestellt und
angenommen und wurde als gebrauchstauglich
erklart.

Der Vertreter der Abteilung fir technische
Kontrolle Herstellungsdatum Verpacker

Herstellungsdatum

Reparatur, Ersatz von Teilen und Komponenten
der Ware, wahrend der Garantiezeit erfolgt
unter der Adresse:

2, Rechnaya Str., Votkinsk, 427432, Russia
CUSTOMER SERVICE
Tel.: +7 34145 29821, e-mail: servicevpk@topol.ru

Verkaufsdatum

Stempel der Verkaufsorganisation

Der Hersteller behilt sich das Recht vor, geringe
technische Anderungen vorzunehmen, die in dieser
Anleitung nicht dargestellt wurden.

@ Veiligheidseisen, opslag- en
de exploitatie-regels

1. Lees aandachtig de voorschriften van deze
handleiding.

2.Houd het product tegen schokken en mechanische
schade.

3.0m de schade op te heffen, voor het gebruiken
controleer de juistheid en betrouwbaarheid van het
productassemblage in overeenstemming met deze
handleiding.

4. Het produkt moet worden opgeslagen in gesloten
ruimtes bij een temperatuur niet lager dan +2°Cen
niet boven +40°C en een relatieve vochtigheid van
45 tot 70%.

5. Het product wordt aanbevolen te vegen met een
vochtige doek en daarna met een zachte schone
doek te drogen.

Fabrieksgarantie

1. De fabrikant garandeert dat het product aan de
eisen van de normatieve documenten voldoet,
onderworpen aan de regels van de opslag,
transportatie, onderhoud en montage.

2. De levensduur van het product is 2 jaar.

3. De garantieperiode van het product is 18
maanden.

4. Gedurende de garantieperiode worden eventuele
gebreken kosteloos genlimineerd. Als u een defect
vindt, informeer de fabricant erover onmiddellijk.
De kwestie om het product te repareren of
onderdelen te leveren is de keuze van de fabrikant.

5.Dit product is niet geschikt voor commercieel of
industrieel gebruik. Overtreding leidt tot
vermindering van de garantieperiode.

6. De garantie geldt alleen voor materiaal- of
fabricagefout. Slijtage of schade veroorzaakt door
onjuist gebruik, gebruik van geweld of de
interventie die plaatsvond zonder voorconsultatie
met onze service-afdeling zijn niet onder de
garantie.

7.Bewaar de originele verpakking gedurende de
garantieperiode zodat u in geval van terugkeer de
goederen veilig vervoeren kunt. Het product zonder
verpakking moet naar de service-afdeling niet
verzonden zijn!

Certificaat van aanvaarding

Het product is vervaardigd en aanvaard in
overeenstemming met de dwingende eisen van
de normen, de huidige technische documentatie
en voor de dienst geschikt bevonden zijn.

De vertegenwoordiger van de dienst
van technische controle

Fabricagedatum

Het adres voor reparatie, vervanging van
onderdelen en componenten producten in de
periode van garantie:

2, Rechnaya Str., Votkinsk, 427432, Russia
CUSTOMER SERVICE
Tel.: +7 34145 29821, e-mail: servicevpk@topol.ru

Verkoopdatum

Stempel van de handelsorganisatie

Wij behouden ons het recht voor om kleine
technische wijzigingen te maken die in deze
handleiding niet kunnen gevonden zijn.




@) Les exigences de sécurité, des régles
de stockage et de fonctionnement

Exigences de sécurité, et regle de stockage et de
fonctionnement.

1.Lire attentivement les exigences de ce manuel.

2.Protéger le produit de tout choc et dommage
mécanique.

3.Pour éviter tout risque de blessure, veiller a ce que
le produit soit bien utilisé selon les exigences de ce
manuel.

4. Le produit doit étre conservé dans un espace
fermé a la température pas inférieure a +2°C et pas
plus de +40°C et une humidité relative de 45 a 70%.

5.Conseils d'entretien: nettoyer a laide d'une éponge
ou d'un chiffon humide.

La garantie du fabricant

1. Le fabricant garantit que le produit est conforme
aux exigences des documents normatifs, sous
réserve des régles de l'entreposage, le transport,
lentretien et l'assemblage par le consommateur.

2. La durée de vie du produit est de 2 Ans.
3.La période de garantie du produit est 18 mois.

4.Au cours de la période de garantie, les défauts
sont éliminés gratuitement. Si vous découvrez un
défaut, vous devez immédiatement aviser le
fabricant. La question de la réparation du produit
ou la fourniture de pieces de rechange reste a la
discrétion du fabricant.

5. Ce produit ne convient pas pour un usage
commercial ou industriel. Violation conduit a une
réduction de la période de garantie.

6. La garantie couvre uniquement le matériel ou
les défauts de fabrication. Les piéces d'usure ou les
dommages causés par une mauvaise utilisation,
Lutilisation de la force ou de l'intervention sans
consultation préalable avec notre département de
service ne sont pas couverts par la garantie.

7.S'il vous plaft gardez lemballage d'origine
pendant la période de garantie, en cas de retour
d'étre capable de transporté des marchandises en
toute sécurité. Ne pas envoyez des marchandises
au service sans emballage!

Certificat d'acceptation

Le produit est fabriqué et accepté en conformité
avec les exigences obligatoires des normes, la
documentation technique actuelle et jugé apte
pour le service.

Représentant du Contrdle qualité

Date de fabrication

Réparation, le remplacement des piéeces et
composants du produit au cours de la période

de garantie a l'adresse:

2, Rechnaya Str., Votkinsk, 427432, Russia
CUSTOMER SERVICE

Tel.: +7 34145 29821, e-mail: servicevpk@topol.ru

Date de vente

L'étampe de Llorganisation commerciale

Le fabricant réserve le droit d'apporter des

modifications techniques mineures qui ne sont
pas reflétés dans ce manuel.

@ Requerimientos de seguridad, reglas
de almacenamiento y operacion

1. Por favor, lea cuidadosamente los requerimientos
de este manual.

2. Proteja el producto de golpes y dafios mecanicos.

3. Para evitar lesiones, antes del uso, se asegura en
la correccion y la fiabilidad del conjunto del
producto segun los requerimientos de este manual.

4. El producto debe almacenarse en espacios
cerrados a una temperatura no menos de +2°Cy no
por encima de +40°C y una humedad relativa de 45
a70%.

5. Se recomienda limpiar el producto con un pafo

himedo y luego secarlo con un pafio suave y limpio.

La garantia del fabricante

1. El fabricante garantiza que el producto cumple
con los requerimientos de los documentos
normativos con sujecion a las reglas del
almacenamiento, transporte, operacion y montaje.

2. La vida de servicio del producto es de 2 Anos.
3. El periodo de garantia del producto - 18 meses.

4. Durante el periodo de garantia, cualquier
defecto se elimina de forma gratuita. Si Usted
descubre un defecto, por favor, notifica al
fabricante inmediatamente. El fabricante debe
decidir por si mismo, si es necesario a reparar el
producto o suministrar las piezas de recambio.

5.Uso comercial o industrial de este producto es
prohibido. Violacién de la regla conduce a una
reduccion en el periodo de garantia.

6. La garantia cubre solo los materiales o defecto
de fabricacion. Las piezas desgastadas o dafadas
por el uso incorrecto, el uso de la fuerza o
intervencion que se llevo a cabo sin consulta
previa con nuestro departamento de servicio no
esta cubierto por la garantia.

7. Por favor, mantenga el embalaje original durante
el periodo de la garantia, para que en caso de
devolucion sea posible asegurar el transporte del
producto. jNo envie el producto al departamento
de servicio sin embalaje!

Certificado de recepcion

El producto es fabricado y recibido segun los
requerimientos obligatorios de las normas, la
documentacion técnica actual y es declarado
apto para la explotacion.

El representante de DCT

Fecha de fabricacion

La reparacion, el reemplazo de piezas y
componentes del producto, durante el periodo

de garantia, se realiza en la direccion:

2, Rechnaya Str., Votkinsk, 427432, Russia
CUSTOMER SERVICE

Tel.: +7 34145 29821, e-mail: servicevpk@topol.ru

Fecha de venta

El estampo de la organizacion de comercio

El fabricante reserva el derecho de realizar
cambios técnicos menores que no estan reflejados
en este manual.

‘D Le richieste della sicurezza, le regole
della conservazione e lesplotazione

1. Legga attentamente le indicazione del manuale
presente.

2. Premunisca il prodotto dai colpi e le rotture
meccaniche.

3. Per escludere i trauma prima di cominciare ad
usare il prodotto guardi se il prodotto sia messo
ed installato correttamente e sicuramente secondo
le esigenze del manuale presente.

4.1l prodotto deve essere conservato negli spazi
chiusi alla tempreatura non meno di +2°C e non
superiore a +40°C e lumidita relative dellaria da
45 a 70%.

5. Si raccomanda di pulire il prodotto con la stoffa
umida e poi con la stoffa secca e pulita.

La garanzia del produttore

1. La fabbrica produttore garantisce la conformita del
prodotto alle esigenze dei documenti normativi a
condizioni che il consumatore segua le regole della
conservazione, la trasportazione, lesplotazione e
linstallazione.

2. La durata del prodotto & di 2 Anni.

3.1l periodo della garanzia dellesplotazione del
prodotto & 18 mesi.

4.Durante il period della garanzia tutti i difetti
vengono eliminate gratis. Nel caso se abbia trovato
un difetto bisogna comunicarne subito al produttore.
La decisione della questione della riparazione o del
consegno del pezzo di ricambio & alla responsabilita
del produttore.

5. IL prodotto non conviene per lusanza commerciale
o industriale. La trasgressione provoca la riduzione
del periodo della garanzia.

6. La garanzia tocca soltanto il materiale o il difetto
della produzione. Lamortizzazione dei dettagli
oppure le rotture causate dell'usanza incorretta,
lusare di troppa forza o lesplotazione incorretta
senza la consulenza porimaria con il nostro
dipartimento di servizio, non vengono coperte dal
servizio della garanzia.

7. Per favore, conserva l'imballaggio originale durante
tutto il periodo della garanzia per avere la possibilita
di trasposrtare il prodotto al modo sicuro nel caso
del rimborso. Non mandi il prodotto al dipartimento
di servizio senza l'imballaggio!

Il certificato dell'accettazione

IL prodotto é prodotto ed accettato secondo le
esigenze degli standard in vigore, la
documentazione tecnica valida ed & nominato
buono per lesplotazione.

IL rappresentante dell'OTK (il comitato del controllo)

La data della produzione

La riparazione, il ricambio dei pezzi e

dettagli del prodotto durante il periodo

della garanzia si fa all'indirizzo:

2, Rechnaya Str., Votkinsk, 427432, Russia
CUSTOMER SERVICE

Tel.: +7 34145 29821, e-mail: servicevpk@topol.ru

La data della vendita

La stampa dell'organizzazione venditore

IL produttore ha il diritto di fare i piccoli cambi
tecnici non descritti nel manuale presente.




@ Requisitos de seguranca e regras
de conservacao e utilizacao

1. Familiarize-se com as especificacdes deste
manual de instrugoes.

2. Proteja o produto de impactos e danos
mecanicos.

3.Para a evitar lesoes, antes de utilizar o produto,
verifique a respectiva exactidao e fiabilidade de
acordo com os requisitos deste manual.

4.0 produto deve ser armazenado em local
fechado a uma temperatura abaixo de +2°C e nao
acima de +40°C e humidade relativa do ar de 45
a70%.

5.Recomenda-se a limpeza do produto com um
pano humido e, de seguida, com um pano macio
e limpo.

Garantia do fabricante

1.A empresa/fabricante garante que o produto se
encontra em conformidade com os requistos dos
documentos normativos sobre a condi¢do de que o
consumidor respeita as regras de armazenamento,
transporte, utilizagao e montagem.

2. Avida util do produto é de 2 anos.
3.0 periodo de garantia do produto é de 18 meses.

4. Durante o periodo de garantia, os defeitos sao
solucionados gratuitamente. Assim que o defeito
for detectado, o consumidor deve informar
imediatamente o fabricante. A decisao sobre a
reparagao do produto ou fornecimento de pegas
sobressalentes fica a critério do fabricante.

5. Este produto nao é indicado para uso comercial
ou industrial. A violagao desta regra conduz a um
corte no periodo de garantia.

6.A garantia cobre apenas o material ou os defeitos
de fabrico. Nao estdo cobertas pela garantia as
pecas com sinais de desgate ou danificacdo
causados pelo uso incorrecto, uso de forga ou
outras intervengdes ocorridas sem consulta prévia
do nosso servigo de assisténcia.

7.Conserve a embalagem original durante o
periodo de garantia para que, em caso de
devolugao, tenha a possibilidade de usufruir do
transporte seguro de mercadorias. Nao envie o
produto para o servico pés-venda sem a
embalagem!

Certificado de aceitacao

Produto fabricado e promulgado de acordo com os
requisitos padrao obrigatérios em vigor e esta em
conformidade com a documentagao de suporte e
apto para ser utilizado.

O representante do departamento de controlo de
qualidade

Data de fabrico

A reparagao, substituicao de pecas e

componentes do produto durante o periodo de
garantia é feita no seguinte endereco:

2, Rechnaya Str., Votkinsk, 427432, Russia
CUSTOMER SERVICE

Tel.: +7 34145 29821, e-mail: servicevpk@topol.ru

Data da venda

Carimbo de venda da organizagao

0 fabricante reserva-se ao direito de efectuar

pequenas alteragdes técnicas ndao mencionadas
neste manual.

;Jmoa nmemT
"5%D 1yom Nonx

DT wRNPAY TN DX YA XP KX .1
2IXDN PR NYIO 9N IWINN SV D v .2

207N I¥INN D XY »1 NV Viank 1D .3
TN S NMMTH DXNN2 VIR NDYND
NIN2 i M99 Nt wnnwnh

2N N2 JONMXA NMNY Y WInnL.4
Yyn X9C, 2°+ n MND X NMLVDNLA
.70% TV 45% S n"on* MN5C, 40°+

NN M0N0y I¥INN NX 2219 ¥9nn .5
NP1 "D MHUN DY wAnH 10N NKR

178N MMNX

MEMTN SV DAY I¥INN D Noan ¥ .1
SV Mmy/S 19021 ,0m 0510 0'DNoN HY
.N2DM 21won ,n%a1n oNX 950

DY 2 XN NINN S mwn "N .2
.O'wTN 18 XN NMNXN N91PN .3

DIPINA D29 NMNKN N9IPN 1%NN1 .4
YTIND OV D29 X¥NM DX 015N XD
P20 NOYNN X PN Sy NLYNN .Y TN
XN NYT SV PR NN AR

X MNON N D'RNN PR NF¥IN L5
NoIPN NTI'D ND QM MDD NMWYN Ny
JrmMnxn

L1¥M 029 X NINN DY P N%N NMINRD .6
YN T DY DMWY PR IR DPON S RO
X292 1KY NYI9N IX MDA I 1101 XD
125Y M'N NPYNNR DY NNTRIN MYY™Nn

N NNK T DY N01DN K

AN MMIpRN NMIRN Yy NwH K17
NNX NI ¥ NpR2a 12 NMNRD NopN
M5 X2 .NMINDN NX 1"ayn NNV1A Y10

INMIX X9 My NpoNn% Ninon NX

nbn nmyn

MZMTY DRNNQ 221PM M IRINN
1M210 1100 YN "NDIN 0PN S N2INN
2NwH D'RNN

DX NP2 NPYNNn S %)

NEMA PIRN

ANINN S D20 D'PYN Y N9YNN N
2 YY1 NMNRN N9IPN 19NN

n"ya n"d1o

MpN NNO 3 'X2* 1 TIDOYX
972+39346574 YL
972+35469158 opd

e-mail: sucaria@outlook.com

N oNnn "MkN

NAIRN INOA S¥ NN

DM YS2Y MO NX MSYY 1y N8N
.07 "R M0 D Ixa XYY D'Yp 0M1dv

bguiv 9 ULVl Lllbis €1
plasawVl 9 o=l
plasiowVl Jds oldlioe alsy 851)8 )

SLoVls wlosall oo zuiell (sle blasdl .Y

ol oS53l Adgiges do o ASWI >y T
i) pliaciaoVl s ol Tis eolullaie) Lads
aloyl

oy 98 J3lll 58 puiell oy a0l . E
a>)> £o4 oo osdel JudsC OV + o J3I 6,1,>
SV 780 o dill gl dugin

P el Julod ashsy auioll guwos aua .0
Aocly ashy @8> wlod ashs) axuo

Olaall gilall

wldlio) guiedl (39lg5 ouny guiodl Riaosll )
bg i ellpsiwoll plsl b yin amopdaidl 85Ugll
weuS,ily plazicw VI (Jal daaxll

u|9‘uuu Y oo )o&” Y

Ao YA @ guiol] Ulouall 6,58 .Y

3] 0laall 8,18 JMs Glaxo Js oSl slawinl puy .5
asianll &Sl sl poss ol clied (Jls wazg
hd 1,55 ol el 2Mo| @Wliso (xis . 98)l sle
\azianll &Sl a6 lasy Ll

ol S, sedl plaziwl wlio e auiell 1is .0
Oloall 8,1 Lolazsl (J] Sxs el .seliall
Vg gaiaid] J5 of 83lall b Olouall (sl .1

o baVl ol eVl sl Vlaall @eas (s
ol 8g8)l plaziwl (pudw jue plaziwl e ozl
Liloas puwd go (guno Holui wgs Jaudl

8,18 JMs a LoVl adell blaisVl (s> .V

I 58 @l @by guiodl Ji5 udgi) colouall

acladl Jowy V acg>, wloazdl powd ()
ladell ugy

Jgaidl 3 lgais

Sl lasy algdy asio 0, guiell
auarl gbg) ladeg ymlaal duel VI
JlogiwW ol @y GlyueVl pig @l

6502l b Jiow

gall 8

lzioll ©lgSog sl3=V Jlawiwl @WoY vlgic
10loall 6,19 JM>

2, Rechnaya Str., Votkinsk, 427432, Russia
CUSTOMER SERVICE
Tel.: +7 34145 29821, e-mail: servicevpk@topol.ru

el &)U

&, x| dnbaioll pu>

il Olpmsil 21| axiiall &S il b
U 13D 5 puSzi Y ol c@iaslal]




@ Tpe6oBaHua No TeXHUKE 6€30MacHOCTU, NPaBUAA XPAHEHUS U SKCMyaTaLmum

1. BHMMaTenbHO 03HaKoMbTECh C TPebOBaHUSMU HACTOSLLEro
PYKOBOACTBA MO 3KCrTyaTaLuu.

2. 06eperaiite n3genue ot yaapoB U MEXaHUYECKMX MOBPEXAEHUN.
3. lns ncknoYeHns TpaBMMUPOBaHUS, Nepes HavanoM aKCrtyaTaumm
ybenuTech B NpaBUIbHOCTU U HALEXHOCTU COOPKU U3aenus B
COOTBETCTBMM C TPEHOBAHMSIMM HACTOSAILLETO PYKOBOACTBA.

4. U3penve LOMKHO XPaHUTBLCS B KPbITbIX MOMELLEHUSIX NpK
Temnepatype He Humke +2°C u He Bbiwe +40°C U OTHOCUTENbHOM
B/IAXXHOCTM BO3ayxa oT 45 no 70%.

FapaHTUA usrotoButens

1. Npeanpuste-u3rotToBuUTENb rapaHTUpPyeT COOTBETCTBUE U3AENUS
TpeboBaHMAM HOPMATMBHbIX AOKYMEHTOB NpU YCI0BUM COBNOAEHMS
notpebutenem npaBua XpaHeHUs, TPAHCMOPTUPOBAHMS, IKCMyaTaLMm
1 cbopku.

2. Cpok cnyx6bbl uspenus - 2 roga.

3. lapaHTWIHbIA CpOK 3KcnnyaTauum uspenus - 18 mecsues.

4. B TeyeHue rapaHTMMHOrO Cpoka Ntobble fedeKTbl YCTPaHSATC
6ecnnatHo. [Npu 0bHapyxeHun aedekra Bam HeobxonnMmo
HeMe[1IeHHO coo6WwmuTh 06 3TOM NpounsBoauTento. PeleHne Bonpoca o
PEMOHTE U3EeNUs UK MOCTaBKM 3aNacHOoi YacTh 0CTaeTcs Ha
yCMOTpeHMe Npon3BOUTENS.

5. [laHHbIM NPOAYKT HE MOAXOAMT A1l KOMMEPYECKOTO UK
MPOMBILLNIEHHOTO UCMONb30BaHMS. HapyLieHre NpuBOAUT K
COKpALLEHWUI0 CPOKa rapaHTuu.

CBUAeTeNnbCTBO O npuemMke

M3penne U3rotoBaeHO M NMPUHSATO B COOTBETCTBUMU
¢ o6g3aTenbHbiMKU TpeboBaHMAMYM CTaHAAPTOB,
[eNnCcTBytoLLeN TEXHUYECKOW AOKYMEeHTaumeln 1
NPU3HAHO FOAHBLIM ANF IKCMAyaTaLmu.

MpencraButens OTK

[lata u3rotoBneHus

5. M3penne pekoMeHAyeTCs NpoTUPaTh BNAXKHOM TKAHbO U 3aTEM HaCyXo
MATKOM YUCTOM TKaHbHO.

6. He ncnonb3yite HeopurnHanbHble 3anacHble YacTu - obpalLanTecs 3a
3anyacTsMu K NpoU3BOANUTENIO WU AUNEpY.

7.BAXXHO! BHUMATE/IbHO CNNELYMTE BCEM 3TAMAM CBOPKM
LLAHHOTO U3LENNS, YKASAHHBIM B TEKYLLEA MHCTPYKLMM.

8. COXPAHSAVTE 3/IEMEHTbI, KOTOPbIE MOTYT UAOTU B
NONOJIHNTE/IbHOM KONMMYECTBE K JAHHOMY U3AE/NIO.

6.apaHT1a pacnpoCTpaHaeTCs TONbKO Ha MaTepuan unu
NPOU3BOACTBEHHbIN Bpak. M3HOC aeTanei unm noBpexaeHus, Bbi3BaHHble
HenpaBubHbIM UCMOb30BAHMEM, TPUMEHEHUEM CUNbI U
BMeLLATeNbCTBOM, KOTOPble UMENN MecTo 6e3 npeaBapuUTENbHOM
KOHCY/bTaLMW C HALUMM CEPBUCHBIM OTAENOM, He MOKPbIBAOTCS
rapaHTUMHBIM 0BCNYKMBAHUEM.

7. Moxanyiicra, COXpaHUTe OPUTMHANbHYIO YNIAaKOBKY Ha NPOTSKEHUM
LLeNCTBUS rapaHTUItHOTO CPOKa, YTobbl B Cy4ae BO3BpaTa UMETb
BO3MOXHOCTb 6€30MacHOM TPaHCNOPTMPOBKM ToBapa. He otnpasnsiite
TOBAp B CEPBUCHbIN oTAEeN 6e3 ynakosku!

PeMoHT, 3amMeHa feTaneit v y3noB u3nenus B nepuos,
rapaHTUIHOro cpoka NPoW3BOAMTCS MO afpecy:
427432, r. BOTKUHCK, yn. PeuHas 2

CNYXXBA CEPBMCA

Ten. +7 34145 29821, e-mail: servicevpk@topol.ru

[ata npoaaxu

LLitamMn ToprytoLuei opraHusaumm

WUsrotoBuTenb octaBnseT 3a coboit npaBo Ha BHECEeHUEe He3HaAYUTE/IbHbIX TEXHUYECKUX WU3MEHEHui, He OTpa*XeHHbIX B AAHHOM PYKOBOACTBE.

Produced by: VOTKINSK INDUSTRIAL COMPANY JSC
91a, Dekabristov Str., Votkinsk, Russia, 427432

Hergestellt von: VOTKINSK INDUSTRIEUNTERNEHMEN AG
427432, Russland, Votkinsk, Dekabristov-Straie 91a

427432, Russische Federatie, Votkinsk, Dekabristov straat, 91a

Produit par: JSC «VOTKINSK INDUSTRIAL COMPANY»
Russie, 427432, ville de Votkinsk, rue des Décembristes, 91a

Producido por: SRL «VOTKINSKAYA PROMYSHLENNAYA COMPANIYA»
Rusia, 427432, Votkinsk, calle Decembristas, 91a

Russia, 427432, citta Votkinsk, via dei Decabristi, 91a

Produzido por: EMPRESA INDUSTRIAL VOTKINSKAYA, S.A.
rua Dezembristas 91a, 427432 - Votkinsk, Russia

MpousseneHo: OAO «BOTKMHCKAS NMPOMBIWTEHHAS KOMMNAHUSA»
427432, Poccus, T. BoTkuHck, yn. [lekabpuctos 91a

T Y poin: VOTKINSK n1an nmwyn JSC,
91a, Dekabristov Str., Votkinsk, 427432

gyl oot G300, "acliall i Sigd &S ,i" Lws, «

00CO000OGO O

Geproduceerd door: OAO «VOTKINSKAJA PROMYSJLENNAJA KOMPANIJA»

Prodotto: S.p.a. del tipo aperto «VOTKINSKAYA PROMYSHLENNAYA KOMPANIYA»

Legal address: VOTKINSK INDUSTRIAL COMPANY JSC
2, Rechnaya Str., Votkinsk, Russia, 427432

Unternehmenssitz: VOTKINSK INDUSTRIEUNTERNEHMEN AG
427432, Russland, Votkinsk, Rechnaya Strasse 2

Wettelijk adres: OAO «VOTKINSKAJA PROMYSJLENNAJA KOMPANUA»
427432, Russische Federatie, Votkinsk, Retsjnaja straat, 2

Adresse légale: JSC «VOTKINSK INDUSTRIAL COMPANY»
Russie, 427432, ville de Votkinsk, Rechnaya Rue, 2

Domicilio legal: SRL «VOTKINSKAYA PROMYSHLENNAYA COMPANIYA»
Rusia, 427432, Votkinsk, calle Rechnaya, 2

Lindirizzo giuridico: S.p.a. del tipo aperto «VOTKINSKAYA PROMYSHLENNAYA KOMPANIYA»

Russia, 427432, citta Votkinsk, str. Rechnaya 2

Enderego comercial: EMPRESA INDUSTRIAL VOTKINSKAYA, S.A.,
Rua Rechnaya 2,427432 - Votkinsk, Russia

HOpuamnueckuit agpec: OAO «BOTKMHCKAS MPOMbILWNEHHAS KOMMAHNS»
427432, Poccus, . BOoTKMHCK, yn. PeyHas 2

N'V9N N2IND: VOTKINSK NNan nw/yn JSC, Nn"wynNin X,
2, Rechnaya Str., Votkinsk, 427432 ,n"on

ugilall Olgiall: o.d.p.p. "aucliall daniSigh &S, " (lows, «
427432 Uiz, €500 «claninSigd die <2




